
w
w
w
.s
a
k
s
h
ie
d
u
c
a
ti
o
n
.c
o
m

www.sakshieducation.com

www.sakshieducation.com

´ëÆŠæt&G (60 Ð]l*Æý‡$PË$)

f¯]lÆý‡ÌŒæ ¯éÌñæyŠæj
1. 2011 VýS×ê…M>Ë {ç³M>Æý‡… ¿êÆý‡™èl§ólÔ¶æ A„ýSÆ>çÜÅ™é

Æó‡r$ G…™èl?
1) 67.65% 2) 68.96%

3) 72.04% 4) 74.04%

2. MìS…¨ ÐésìæÌZ f´ë Œ̄æ MýSÆð‡±Þ H¨?
1) MøÌê¯Œæ 2) Äñæ$¯Œæ
3) ¸ùÇ…sŒæ 4) ÇÄ¶æ$ÌŒæ

3. "Ð]l* ™ðlË$VýS$ ™èlÍÏMìS Ð]l$ÌñæÏç³N§ýl…yýl' X™é°²
Æ>íÜ…§ðlÐ]lÆý‡$?
1) Æý‡Ò…{§ýl¯é£Šæ u>VýS*ÆŠæ
2) º…MìS… è̂l…{§ýl bèlrÈj
3) Ô¶æ…MýSÆý‡…»êyìl çÜ$…§ýlÆ>^éÇ
4) VýSÇÐðl$â¶æÏ çÜ™èlÅ¯éÆ>Ä¶æ$×æ

4. "¼VŠæ Ä¶æ*í³ÌŒæ' A° H ]̄lVýSÆ>°² í³Ë$Ýë¢Æý‡$?
1) Ë…yýl¯Œæ 2) ¯]l*ÅÄ¶æ*ÆŠæP
3) Ô>¯Œæ{¸ë°ÞÝùP 4) ´ëÇ‹Ü

5. fÌê…™èlÆ>YÑ$ÌZ E ]̄l²ÐéÆý‡$ çÜÐ]l¬{§ýl Eç³Ç™èlË…Oò³
E ]̄l² Ð]lçÜ$¢Ð]l#Ë ]̄l$ è̂l*õÜ…§ýl$MýS$ Eç³Äñæ*W… ó̂l
ç³ÇMýSÆý‡… H¨?
1) ò³ÇÝùP‹³ 2) {Ýët»ZÝùP»Œæ
3) sñæÍÝùP‹³ 4) Oòßæ{yøÝùP‹³

sîæ_…VŠæ Bí³tr*ÅyŠæ
6. MìS…¨ ÐésìæÌZ {ç³«§é¯ø´ë«§éÅÄ¶æ¬yìl Ð]l¬QÅ Ñ«̈

HÑ$sìæ?
1) ´ëuý‡Ô>ËÌZ Ñ§éÅÆý‡$¦Ë ]̄l$ ó̂lÆý‡$aMøÐ]lyýl…
2) ™øsìæ E´ë«§éÅÄ¶æ¬ËMýS$ B§ýlÆý‡Ø{´ëÄ¶æ¬yìlV>

E…yýlr…
3) ´ëuý‡Ô>Ë ÇM>Æý‡$zË ]̄l$ çÜ…Æý‡„ìS… è̂lyýl…
4) ´ëuý‡Ô>ËÌZ {MýSÐ]l$Õ„ýS×æ ]̄l$ AÐ]l$Ë$ ó̂lÄ¶æ$yýl…

7. NCERT° H çÜ…Ð]l™èlÞÆý‡…ÌZ Ýë¦í³…^éÆý‡$?
1) 1961 2) 1968

3) 1972 4) 1974

8. Ñ§éÅÆý‡$¦Ë$ ¯éÄ¶æ$MýS™èlÓ Ë„ýS×êË ]̄l$ AËÐ]lÆý‡$a-
MøÐ]lyé°MìS Eç³Äñæ*ç³yólÑ HÑ?
1) Æ>fMîSÄ¶æ*Ë$ 2) Ð]lMýS¢–™èlÓ ´ùsîæË$
3) A«§ýlÅÄ¶æ$ ]̄l A…Ô>Ë$ 4) ´ëuý‡Ô>Ë G°²MýSË$

9. "E´ë«§éÅÄ¶æ$ ¨¯ø™èlÞÐ]l…' ]̄l$ Gç³#μyýl$
°Æý‡Óíßæ…^èl$MýS$…sêÆý‡$?
1) BVýSçÜ$t 15 2) ]̄lÐ]l…ºÆŠæ 6
3) òÜò³t…ºÆŠæ 5 4) yìlòÜ…ºÆŠæ 7

10. {ç³çÜ$¢™èl Ñ§éÅ Ñ«§é ]̄l… H Æý‡MýSOÐðl$…¨?
1) çÜÐ]l*f MóS…{©MýS–™èl Ñ§ýlÅ
2) Ñ§éÅÇ¦ MóS…{©MýS–™èl Ñ§ýlÅ
3) E´ë«§éÅÄ¶æ$ MóS…{©MýS–™èl Ñ§ýlÅ
4) ´ëuý‡Ô>Ë MóS…{©MýS–™èl Ñ§ýlÅ

™ðlË$VýS$
11. "MóSÄ¶æÊÆý‡»êçßæ$ è̂lÇ{™èl' A ó̄l M>ÐéÅ°MìS

Ð]lÊË{VýS…£ýl… H¨?
1) Mö…yýl$ ¿¶æsîætÄ¶æ$… 2) A¯]l$¿¶æÐ]lÝëÆý‡…
3) Ñ§ýlªÝëË ¿¶æ…hMýS 4) ç³…yìl™éÆ>«§ýlÅ è̂lÇ{™èl

12. "VøËMö…yýl ç³{†MýS' ]̄l$ Ýë¦í³…_…§ðlÐ]lÆý‡$?
1) çÜ$Æý‡Ð]lÆý‡… {ç³™éç³Æð‡yìlz
2) Ð]l¬r*²Ç MýS–Úë~Æ>Ð]l#
3) Æ>gê Æ>Ððl*Ãçßæ Œ̄æÆ>ÄŒæ$

Hï³ yîlDD òÜsŒæ 2016 Ð]l*¨Ç {ç³Ô¶æ²ç³{™èl…
Ððl¬™èl¢… {ç³Ô¶æ²Ë çÜ…QÅ: 100 VýSÇçÙt Ð]l*Æý‡$PË$: 100 çÜÐ]l$Ä¶æ$…: 2½ VýS…rË$
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4) MýS…§ýl$MýS*Ç ÒÆó‡Ô¶æÍ…VýS…
13. B«§ýl$°MýS MýSÐ]l#ÌZÏ Æý‡ è̂l ]̄lËMýS$, ¿êÐéÆ>¦ËMýS$ ï³r ÐólíÜ ]̄l

MýSÑ GÐ]lÆý‡$?
1) ÝùÐ]l$ÔóæQÆý‡ Ô¶æÆý‡Ã 2) ó̂lMýS*Ç ÐólÐ]l$MýSÑ
3) A ]̄l…™èl MýS–çÙ~ Ô¶æÆý‡Ã 4) »êËVýS…V>«§ýlÆŠæ †ËMŠæ

14. "¯érMýS…' {ç³{MìSÄ¶æ$ ]̄l$ B«§ýl$°MýS…V> §ól°™ø
´ùËaÐ]l^èl$a?
1) MýS£é°MýS 2) íÜ°Ð]l*
3) MýSÑ™èl 4) ïÜÇÄ¶æ$ÌŒæ

15. Ð]lÅMìS¢° Ìôæ§é Ð]lÅÐ]lçÜ¦̄ ]l$ ÑÐ]l$ÇØ… è̂lyýl… H {ç³{MìSÄ¶æ$ÌZ
Ýë«§éÆý‡×æ…?
1) ï³vMýS 2) ÐéÅQÅ
3) VýSÍμMýS 4) òÜP^Œæ

16. "{Ô¶æ$† Br Byìl, A ]̄l²… † ]̄l²¨' & C¨ H Æý‡MýSOÐðl$ ]̄l
ÐéMýSÅ…?
1) ÝëÐ]l* ]̄lÅ ÐéMýSÅ… 2) çÜ…ÕÏçÙt ÐéMýSÅ…
3) HMýS ÐéMýSÅ… 4) çÜ…Ä¶æ¬MýS¢ ÐéMýSÅ…

17. "í³Æý‡§úíÜ', "VýS¼¾Ë…' GÐ]lÇ Æý‡ è̂l ]̄lË$?
1) Æ>Ä¶æ${´ùË$ çÜ$»ê¾Æ>Ð]l#
2) ÑÔ¶æÓ¯é£ýl çÜ™èlÅ¯éÆ>Ä¶æ$×æ
3) §ólÐ]l#Ëç³ÍÏ MýS–çÙ~Ô>íÜˆ
4) VýS${Æý‡… gêçÙ$Ðé

18. VøÆ>Ô>[íÜ¢ °Æý‡Óíßæ…_ ]̄l ÖÇÛMýS õ³Æý‡$?
1) BÚëÐ]l*ïÙ 2) Ñ¯éÄ¶æ$MýS$yìl Ò×æ
3) ç³#×æÅ¿¶æ*Ñ$ 4) Ð]l*×ìæMýSÅÒ×æ

19. MìS…¨ ÐésìæÌZ "¿¶æ*Æý‡*çßæ…' ç³Æ>ÅÄ¶æ$ç³§ýl…?
1) VýS$…ç³# 2) ±yýlÐ]l¬
3) ^ðlr$t 4) ¯]l¿¶æÐ]l¬

20. MìS…¨ ÐésìæÌZ ¿¶æ*™èl M>ÍMýS AçÜÐ]l*ç³MýS {MìSÄ¶æ$ H¨?
1) †° 2) ^èl*õÜ¢
3) Ñ…r* 4) ÐðlâñæÏ¯]l$

C…WÏ‹Ù

21. "May I come in?" 
This sentence expresses:
1) A command 2) A request
3) An allowance 4) Seeking permission

22. She said to him, "You are not my friend". 
The indirect form of the above sentence is:
1) She told him that you are not my friend.
2) She told him that I am not her friend.
3) She told him that he is not her friend.
4) She told him that he was not her friend.

23. As long as I sat on the chair in his house, I felt
like I sat on _____
1) a furnace 2) a pan
3) thorns 4) 2 or 3

24. Choose the correct spelt word from the
following.
1) Acquaintance 2) Acquittence
3) Acquitance 4) Acquaintence

25. I got substantial amount of help from them. 
The underlined word means:
1) Ample 2) Enough
3) Meager 4) Moderate

26. Please fill ____ this application if you are
interested in the job.
1) up 2) out 3) with 4) on

27. Imagine that you are writing a letter to your
friend. How do you subscribe?
1) Yours sincerely 2) Yours truly
3) Yours faithfully 4) Yours lovingly

28. I completed the work extremely well though it
was not my cup of tea. 
The idiom "my cup of tea" here means:
1) Thing/s of interest and liking
2) Thing/s of hatred and disliking
3) Thing/s with great difficulty
4) Thing/s with no interest

29. Scarcely had he stepped on the platform when he
was arrested by the police.
This sentence means:
1) He didn't step on the platform when he was

arrested by the police
2) He was arrested by the police before he

stepped on the platform
3) No sooner did he step on the platform than he

was arrested by the police
4) As soon as he steps on the platform he was

arrested by the police
30. Indian produce came ___ pressure from foreign

competition.
Choose the correct particle.
1) under 2) with 3) to 4) through
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Ð]l*Å£ýlÐðl$sìæMŠæÞ

31. 0.363636..... ]̄l$ Æý‡*ç³…ÌZ Æ>õÜ¢ p+q ÑË$Ð]l
G…™èl?
1) 135 2) 45 3) 15 4) 7

32. Æ>k, Æý‡Ñ {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$Ë °çÙμ†¢ 7 : 5. ç³§ólâ¶æÏ
™èlÆ>Ó™èl ÐéÇ Ð]lÄ¶æ$çÜ$Ë °çÙμ†¢ 9 : 7. AÆ‡¬™ól Æý‡Ñ
{ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$ G°² çÜ…Ð]l™èlÞÆ>Ë$?
1) 35 2) 30 3) 25 4) 20

33. çÜÐ]l* ]̄l ÐéÅÝëÆý‡®… 7 òÜ….Ò$. E ]̄l² ¯éË$VýS$
¯é×ôæË$ JMýS§é°MöMýSsìæ »êçßæÅ…V> çÜμÇØ… è̂l$MýS$…r$
¯é²Æ‡¬. AÆ‡¬™ól B ¯é×ôæË Ð]l$«§ýlÅ HÆý‡μyól Rêä çÜ¦Ë…
OÐðlÔ>ËÅ… G…™èl ( è̂l.òÜ….Ò$.ËÌZ)?
1) 35 2) 7 3) 10.5 4) 21

34. MìS…¨ ç³r…ÌZ l // m. n †Æý‡ÅÆó‡Q. Ë$
Ë Mø×æ çÜÐ]l$¨ÓQ…yýl ]̄l Æó‡QË$ AÆ‡¬™ól a

ÑË$Ð]l G…™èl?

1) 30° 2) 45° 3) 60° 4) 15°

35. ΔABCÌZ D, E, FË$ ¿¶æ$gêË Ð]l$«§ýlÅ ¼…§ýl$
Ð]l#Ë$. ΔDEF OÐðlÔ>ËÅ…16 è̂l.òÜ….Ò$. AÆ‡¬™ól
ΔABC OÐðlÔ>ËÅ… G…™èl ( è̂l.òÜ….Ò$.ËÌZ)?
1) 4 2) 16 3) 32 4) 64

36. 10 òÜ….Ò$. ÐéÅÝëÆý‡®… E ]̄l² AÆý‡® Vøâ¶æ… çÜ…ç³NÆý‡~
™èlË OÐðlÔ>ËÅ… G…™èl?
1) 356 ^èl.òÜ….Ò$. 2) 486 ^èl.òÜ….Ò$.
3) 942 ^èl.òÜ….Ò$. 4) H©M>§ýl$

37. JMýS Æ>…º‹ÜÌZ MýSÆ>~Ë ´÷yýlÐ]l#Ë$ Ð]lÆý‡çÜV> 12

òÜ….Ò$., 16 òÜ….Ò$. §é° BçÜ ]̄l² ¿¶æ$gêË Ð]l$«§ýlÅ
¼…§ýl$Ð]l#Ë ]̄l$ Ð]lÆý‡çÜ {MýSÐ]l$…ÌZ MýSÍí³™ól HÆý‡μyól ç³r…
OÐðlÔ>ËÅ… G…™èl (^èl.òÜ….Ò$.ÌZÏ)?
1) 24 2) 48 3) 64 4) 72

38. MìS…¨ ÐésìæÌZ çÜOÆð‡…¨ H¨?
1) (A – B) ∩ (B – A) = φ

2) (A – B) ∪ (B – A) = (A∪B) – (A∩B)

3) A, BË$ ÑÄ¶æ¬MýS¢ çÜÑ$™èl$OÌñæ™ól
n(A∪B) = n(A) + n(B)

4) Oò³Ð]l±²
39. (k–3)x+3y = k, kx+ky = 12 çÜÒ$MýSÆý‡×êË

f™èlMýS$ A ]̄l…™èl Ýë«§ýl ]̄lË$ E…sôæ k ÑË$Ð]l G…™èl?
1) –6 2) 6 3) –4 4) 5

40. Ë$ VýS$×æ{ÔóæÉìlÌZ E…sôæ x ÑË$Ð]l G…™èl?
1) ± 1 2) ± 2 3) ± 3 4) ± 4

ºÄ¶æ*Ëi
41. "MýSÆøË‹Ü Í ó̄l²Ä¶æ$‹Ü' ]̄l$ H Ô>{Ýë¢°MìS í³™éÐ]l$çßæ$

yìlV> õ³ÆöP…sêÆý‡$?
1) BÐ]lÆý‡×æ Ô>çÜˆ… 2) Ð]lÈYMýSÆý‡×æ Ô>çÜˆ…
3) G…rÐ]l*Ëi 4) f¯]l$ÅÔ>çÜˆ…

42. sê°…VŠæ Ð]lËÏ GMýS$PÐ]lV> E™èlμ†¢ AÄôæ$Å ç³§éÆý‡¦…
H¨?
1) MðSÆ>sìæ¯Œæ 2) Ððl$Ë°¯Œæ
3) Oòœ{»êÆ‡¬¯Œæ 4) 2, 3

43. OÐðl$MøsêMìSÞ ]̄l$Ï Ð]l* ]̄lÐ]l Ô¶æÈÆý‡…ÌZ H Ð]lÅÐ]lçÜ¦Oò³
{ç³¿êÐ]l… è̂l*ç³#™éÆ‡¬?
1) iÆý‡~ Ð]lÅÐ]lçÜ¦ 2) Ð]lÊ{™èl Ð]lÅÐ]lçÜ¦
3) ¯éyîl Ð]lÅÐ]lçÜ¦ 4) 1, 3

44. çÜ…MýSÆý‡ ™ólgê°² Ððl¬§ýlrV> VýS$Ç¢…_…¨ GÐ]lÆý‡$?
1) Ððl$…yýlÌŒæ 2) CÄ¶æ$¯Œæ ÐðlÌñæÃsŒæ
3) MøÌŒæÆý‡*rÌŒæ 4) Ððl*Æ>Y¯Œæ
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45. "{òœhÐéÌŒæïÜP' gê† iÐ]l#Ë ]̄l$ ÐólsìæMìS ç³NÆý‡Ó
iÐ]l#Ë$V> ¿êÑÝë¢Æý‡$?
1) Ðól$MýS 2) VýS${Æý‡… 3) Vö{Æð‡ 4) ç³…¨

¿o†MýS, Æý‡ÝëÄ¶æ$¯]l Ô>çÜˆ…
46. ºË$¾ÌZ° íœËÐðl$…sŒæ ]̄l$ H ç³§éÆý‡¦…™ø ™èlÄ¶æ*Æý‡$

^ólÝë¢Æý‡$?
1) r…VŠæçÜt¯Œæ 2) Æ>W
3) Ððl…yìl 4) ™èlVýSÆý‡…

47. ç³NsêM>Æý‡ §ýlÆý‡μ×æ… Ð]l{MýS™é ÐéÅÝëÆý‡®… H Ñ«§ýl…V>
E…r$…¨?
1) Æý‡$×ê™èlÃMýS… 2) 0

3) 1 4) «§ýl¯é™èlÃMýS…
48. ¿¶æ*MýS…ç³… Ð]lËÏ Ñyýl$§ýlËÄôæ$Å Ô¶æMìS¢° MöÍ ó̂l ç³ÇMýSÆý‡…

H¨?

1) ¿¶æ*MýS…ç³ õÜPË$ 2) ÇMýStÆŠæ õÜPË$
3) ¿¶æ*MýS…ç³Ìôæü° 4) IÆý‡¯Œæ õÜPË$

49. Ð]l* ]̄lÐ]l Æý‡MýS¢… pH ÑË$Ð]l G…™èl?
1) 2.4 – 3.6 2) 4.6 – 5.5

3) 4.8 – 7.5 4) 7.32 – 7.45

50. Ä¶æÊÇÄ¶æ* A×æ$ ¸ëÆý‡*ÃÌê?
1) CH3COCH3 2) NH2CONH2

3) CH2COCH2 4) CH3CONH2

ÝùçÙÌŒæ çÜtyîl‹Ü
51. {¸ë Œ̄æÞÌZ OyðlÆð‡MýStÈ ´ëË ]̄l ]̄l$ Æý‡§ýl$ª ó̂líÜ ]̄l °Ä¶æ$…™èl

GÐ]lÆý‡$?
1) ¯ðl´ùÍÄ¶æ$¯Œæ 2) íßærÏÆŠæ
3) ç³§ø ^éÆð‡Ï‹Ü 4) Ð]l¬ÝùÞÍ°

52. "GÆŠæ¢' (Earth) A ó̄l ç³§é°MìS AÆý‡¦… HÑ$sìæ?
1) ´÷yìl ó̄lË 2) Ð]l$sìæt
3) ¯ólË 4) Oò³Ð]l±²

53. "Ñ§ýlÅ' H gê¼™éÌZ E…¨?
1) MóS…{§ýl gê¼™é 2) Æ>[çÙt gê¼™é
3) EÐ]l$Ãyìl gê¼™é 4) AÐ]lÕÚët«¨M>Æý‡…

54. «§ýlÆý‡ÌZÏ Ð]l_a ]̄l Ð]l*Æý‡$μË ]̄l$ MöËÐ]lyé°MìS
Eç³Äñæ*W… ó̂l çÜ*_MýS H¨?
1) Ñ°Äñæ*VýS çÜ*_MýS 2) «§ýlÆý‡Ë çÜ*_MýS
3) Ð]lÅÄ¶æ$ çÜ*_MýS 4) E™èlμ†¢ çÜ*_MýS

55. IÆø´ë ¯éÑMýS$Oyðl ]̄l ÐéÝùPyìlV>Ð]l* çÜÐ]l¬{§ýl Ð]l*Æý‡Y…
§éÓÆ> ¿êÆý‡™èl§ólÔ>°² ó̂lÆý‡$MýS$ ]̄l² çÜ…Ð]l™èlÞÆý‡… H¨?
1) 1490 2) 1690 3) 1688 4) 1498

56. {§ýlÐøÅË¾×ê°² ™èlWY… è̂lyé°MìS {ç³¿¶æ$™èlÓ… ó̂lç³sìæt̄ ]l
è̂lÆý‡Å HÑ$sìæ?

1) MöÆý‡™èl Ð]lçÜ$¢Ð]l#Ë ¨VýS$Ð]l$†
2) A{MýSÐ]l$ °ËÓËOò³ §éyìl
3) {§ýlÐ]lÅ çÜÆý‡çœÆ> ™èlWY…ç³#
4) Oò³Ð]l±²

57. Ò$Æý‡$ ™èl*Æý‡$μ ]̄l$…_ ç³yýlÐ]l$Æý‡MýS$ {ç³Ä¶æ*×ìæçÜ$¢-
]̄l²ç³#μyýl$ JMýS yìl{X Æó‡Rê…Ô>°MìS G°² °Ñ$ÚëË$
MøÌZμ™éÆý‡$?
1) 2 °Ñ$ÚëË$ 2) 3 °Ñ$ÚëË$
3) 4 °Ñ$ÚëË$ 4) 5 °Ñ$ÚëË$

58. ¿êÆý‡™èl§ólÔ¶æ…ÌZ Ððl¬§ýlsìæ Ýë«§éÆý‡×æ G°²MýSË ]̄l$ H
çÜ…Ð]l™èlÞÆý‡…ÌZ °Æý‡Óíßæ…^éÆý‡$?
1) 1947 2) 1950 3) 1952 4) 1955

59. VýS–çßæ íßæ…çÜ ]̄l$…_ Ð]l$íßæâ¶æËMýS$ Æý‡„ýS×æ MýSÍμ… ó̂l
è̂lsêt°² H çÜ…Ð]l™èlÞÆý‡… ]̄l$…_ AÐ]l$ÌZÏMìS
¡çÜ$MýS$Ð]l^éaÆý‡$?
1) 2004 2) 2005 3) 2006 4) 2008

60. "CrÎÌZ ç³# ]̄lÆý‡$ijÐ]l ¯éVýSÇMýS™èl' A ó̄l {VýS…£é°²
Æý‡_…_…§ðlÐ]lÆý‡$?
1) gêMýS»Œæ ºMŠæ çßæÆŠæt 2) M>Ýët{yýlòœyîlÌŒæ
3) VðSÆ>árÆŠæ Ððl$Æó‡PrÆŠæ 4) ï³rÆŠæ ºÆŠæP
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´ëÆŠæt & ¼ (40 Ð]l*Æý‡$PË$)
Ð]l*Å£ýlÐðl$sìæMŠæÞ (Bç³Û¯]lÌŒæ)

61. x, y ∈ RMýS$ f(x + y) + f(x – y) = 2f(x). f(y),

f(0) = n AÆ‡¬™ól?
1) n = 1 AÆ‡¬ ]̄lç³#μyýl$ f çÜÇ {ç³Ðól$Ä¶æ$…
2) n = 1 AÆ‡¬™ól f »ôæíÜ {ç³Ðól$Ä¶æ$…
3) f Gç³#μyýl* »ôæíÜ {ç³Ðól$Ä¶æ$…
4) f Gç³#μyýl* çÜÇ {ç³Ðól$Ä¶æ$…

62. |A| = 0 AÆ‡¬™ól çÜÒ$MýSÆý‡×æ Ð]lÅÐ]lçÜ¦ AX = BMýS$
1) A ]̄l…™èl Ýë«§ýl ]̄lË$ E…sêÆ‡¬
2) HOMðSMýS Ýë«§ýl ]̄l E…r$…¨
3) Ýë«§ýl ]̄l E…yýl§ýl$ 4) H©M>§ýl$

63. a, b, cË$ H.P.ÌZ p, q, rÐ]l ç³§éOÌñæ™ól

1) 1 2) 0

3) abc 4) a + b + c

64. A, B ¼…§ýl$Ð]l#Ë Ýë¦̄ ]l çÜ¨Ô¶æË$ 3i – 2j + k, 2i +

4j – 3k AÆ‡¬™ól |AB| ÑË$Ð]l –––

1) 2) 3) 4) 

65. a = 4i + 3j – k, b = 2i – bj – 3k çÜ¨Ô¶æË$
Æð‡…yìl…sìæMîS Ë…º…V> E…yól Ä¶æÊ°sŒæ çÜ¨Ô¶æ –––

1) 2)

3) 4)

66. f(x) = 2sin °ÇªçÙt BÐ]lÆý‡¢̄ ]l… –––

1) 4 2) 8 3) 12 4) 24

67. 1 + sinx + sin2x + .....∞ = 4 + 2√3, 0 < x

< π, AÆ‡¬™ól x = –––

1) 30°, 45° 2) 45°, 60°
3) 60°, 90° 4) 60°, 120°

68. AÆ‡¬™ól sin–1x {ç³«§é ]̄l ÑË$Ð]l –––

1) 2) 3) π 4) 

69. ΔABCÌZ 

1) Δ 2) s 3) r 4) 2s

70. 60 Ò$rÆý‡$Ï G™èl$¢ E ]̄l² Mö…yýl Mö ]̄l ]̄l$…_, JMýS
Vøç³#Æý‡… Oò³ ¿êVýS…, ´ë§ýl… ó̂lõÜ °Ð]l$² Mø×êË$
Ð]lÆý‡$çÜV> 30°, 60° B Vøç³#Æý‡… G™èl$¢ Ò$rÆý‡ÏÌZ
1) 30 2) 40 3) 50 4) 60

71. A„>Ë ]̄l$ 30° §éÓÆ> çÜÐ]lÅ¨Ô¶æÌZ {¿¶æÐ]l$×æ… ó̂lõÜ¢
(4, 2√3) Mö™èl¢ °Æý‡*ç³M>Ë$ –––
1) (2, 3) 2) (2, √3)

3) (√3, 2) 4) (√3, 5)

72. A(–2, 3), B(6, –5) ¼…§ýl$Ð]l#Ë ]̄l$…_ çÜÐ]l* ]̄l
§ýl*Æý‡…ÌZ è̂lÍ… ó̂l ¼…§ýl$Ð]l# ¼…§ýl$ç³£ýl çÜÒ$MýSÆý‡×æ…
1) x + y = 3 2) x – y = 3

3) 3x + y = 3 4) 2x – y = 3

73. 2x – ay + 1 = 0; 3x – by + 1 = 0; 4x – cy

+ 1 = 0 A ó̄l Æó‡QË$ A ]̄l$çÙM>¢ËÆ‡¬™ól a, b, cË$
–––ÌZ E¯é²Æ‡¬.
1) A.P. 2) G.P. 3) H.P. 4) H©M>§ýl$

74. JMýS {†¿¶æ$f… Ë…ºMóS…{§ýl…, ç³ÇMóS…{§ýl… Ð]lÆý‡$çÜV>
(–3, 5, 2), (6, 2, 5) AÆ‡¬™ól B {†¿¶æ$f…
MóS…{§é¿êçÜ… –––

1) (3, 3, 4) 2) 

3) (9, 9, 12) 4) 

75. 2, 3, –1; O, k, –2Ë$ ¨MŠæ çÜ…QÅË$V> E ]̄l²
Æð‡…yýl$ çÜÆý‡â¶æÆó‡QË Ð]l$«§ýlÅMø×æ… 90°AÆ‡¬™ól k =

1) 2) 3) 4) 

76. 2x – y + 2 = 6, x + y + 2z = 7 ™èlÌêË Ð]l$«§ýlÅ
Mø×æ… –––

1) 2) 3) 4) 
6

π
4

π
3

π
2

π

1

3

−2

3

2

3

−3

2

−

9 3 3
, ,

2 2 2

−⎛ ⎞
⎜ ⎟⎝ ⎠

3 7 9
, ,

2 2 2
⎛ ⎞
⎜ ⎟⎝ ⎠

A B C
4R Cos .Cos .Cos ____

2 2 2
=

3

2

π
2

π
4

π

1
2+ =x

x

2

π≠x

3cos
4 3

π π+x x

1
(3i 2 j 6k)

7
+ +1

( 3i 2 j 6k)
7

− + −

1
(3i 2 j 6k)

7
+ −1

( 3i 2 j 3k)
7

− − +

53432914

bc p 1

ca q 1 ______

ab r 1

=
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77.

1) 0 2) 1 3) 2 4) 3

78.

1) Cosec hx 2) – Cosec hx

3) – Cosec h2x 4) Cosec h2x

79. (2,5) Ð]l§ýlª xy=10 Ð]l{M>°MìS XíÜ ]̄l çÜμÆý‡ØÆó‡Q
çÜÒ$MýSÆý‡×æ… –––
1) 5x + 2y – 20 = 0 2) 5x + 2y + 20 = 0

3) 2x – 5y + 21 = 0 4) 2x – 5y – 21 = 0

80. f(x) = x2 – 3x + 8 {ç³Ðól$Ä¶æ$… ––– A…™èlÆý‡…ÌZ
BÆøçßæ×æ {ç³Ðól$Ä¶æ$….

1) 2) 

3) (–∞, ∞) 4) H©M>§ýl$

81. Ð]l*ç³… –––

1) 1 2) 2 3) 3 4) 4

82. AÆ‡¬™ól, 

(Z JMýS çÜ…MîSÆý‡~ çÜ…QÅ)
1) 0 2) –1 3) 1 4) 2

83. secθ, tanθË$ ax2 + bx + c = 0 (a, b ≠0)MýS$
Ð]lÊÌêË$ AÆ‡¬™ól secθ – tanθ = –––

1) 2) 3) 4) 1

84. 4x3 –12x2 + 11x + k = 0 Ð]lÊÌêË$
A…MýS{ÔóæÉìlÌZ E…sôæ k = –––

1) –3 2) 1 3) 2 4) 3

85. P(10,r) = 5040 AÆ‡¬™ól r = –––

1) 2 2) 4 3) 6 4) 8

86. ÑçÜ¢Æý‡×æÌZ çÜÓ™èl…{™èl ç³§ýl… 
–––

1) 18C8 
212 2) 18C6 

26

3) 18C6 
28 4) 18C8 

28

87. AÆ‡¬™ól A =

1) 1 2) 2 3) 3 4) 4

88. Ð]l¬VýS$YÆý‡$ ç³#Æý‡$çÙ$Ë$, C§ýlªÆý‡$ {ïÜ¢Ë$, ]̄lË$VýS$Æý‡$
í³ËÏË$ E ]̄l² MýS$r$…º… ]̄l$…_ Ä¶æ*§ýl–_eMýS…V>
]̄lË$VýS$Æý‡$° G ]̄l$²MýS$…sôæ ÐéÇÌZ MýS_a™èl…V> C§ýlªÆý‡$
í³ËÏË$ E…yól çÜ…¿êÐ]lÅ™èl –––

1) 2) 3) 4) 

89. ¨Óç³§ýl Ñ¿êf ]̄l…ÌZ AÆ‡¬™ól
§é° {MýSÐ]l$ Ñ è̂lË ]̄l… ––

1) 10√2 2) 3) 4 4) 8

90. C0, C1, ....CnË$ ¨Óç³§ýl VýS$×æM>Ë$ AÆ‡¬™ól C0 +

C1 + C2 + .... + Cn = –––

1) 2 2) 2n 3) 2n 4) 2n–1

91.

1) Tan–1 x6 + C 2) 

3) 4) H©M>§ýl$

92.

1) 2) 3) 4) 

93. y = 3x, y = 6x – x2 Ð]l{M>Ë™ø ç³Çº§ýl® OÐðl$ ]̄l
OÐðlÔ>ËÅ… –––– (^èl.Ä¶æÊ.ËÌZ)

1) 2) 3 3) 4) 

94. AÐ]lMýSË ]̄l çÜÒ$MýSÆý‡×æ… Ýë«§ýl ]̄l ––––

1) Tan–1x + Tan–1y = C
2) Tan–1x – Tan–1y = C

2

2

dy 1 y

d 1

+=
+x x

11

2

9

2

3

2

2

π3

2

π3

16
π3

16

2
4

0

sin d ___

π

=∫ x x

61
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6
+x

1 61
Tan C

6
− +x

5

12
d ____

1
=

+∫
x

x
x

1

800

1
n 400,p

5
= =

10

21

11

24
10

23

9

21

2

3

1 6 A B C

1 1

− + = + +
− − +

x x

x x x x x

18
2⎛ ⎞−⎜ ⎟⎝ ⎠

x
x

2

2

a

b

b

a
−a

b
−

14
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1
Z ____

Z
+ =1

Z 1
Z

+ =

2 2

1 1

(1 i) (1 i)
−

− +

3
,

2
⎛ ⎞∞⎜ ⎟⎝ ⎠

3
,
2

⎛ ⎞−∞⎜ ⎟⎝ ⎠

d
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d
=x

x

x 0

e 1
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1 1→

− =
+ −
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x
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3) Sin–1x – Sin–1y = C
4) Cos–1x – Cos–1y = C

95.

1) 2) etan–1x + C

3) tan–1x + C 4) ex + C

96. (1,–6), (5, 2), (7, 0), (–1, k) ¼…§ýl$Ð]l#Ë$
è̂l{MîSÄ¶æ*OÌñæ™ól k = –––

1) 4 2) – 4 3) 0 4) 2

97. çÜà„ýS Ð]l–™èl¢ çÜÆý‡×ìæMìS ð̂l…¨ ]̄l AÐ]l«̈  ¼…§ýl$Ð]l# (0,

0), B çÜÆý‡×ìæ Ð]lÊË„ýSç³# çÜÒ$MýSÆý‡×æ… x + y = 1

AÆ‡¬™ól Ð]l$Æø AÐ]l«̈  ¼…§ýl$Ð]l# –––
1) (–1, 1) 2) (1, –1)

3) (–1, –1) 4) (1, 1)

98. x = 2(cos t + sin t), y = 5(cos t –sin t) A¯ól
çÜÒ$MýSÆý‡×êË$ §ól°² çÜ*_Ýë¢Æ‡¬?
1) Ð]l–™èl¢… 2) ç³Æ>Ð]lËÄ¶æ$…
3) ©Æý‡ƒÐ]l–™èl¢… 4) A†ç³Æ>Ð]lËÄ¶æ$…

99. 12x2 – 20xy + 7y2 = 0 çÜÆý‡â¶æÆó‡Rê Ä¶æ¬VýSÃ…
ÌZ ]̄l$, 2x – 3y + 4 = 0 çÜÆý‡â¶æÆó‡Q™ø ]̄l$ HÆý‡μyól
{†¿¶æ$f MóS…{§é¿êçÜ… –––

1) 2) 

3) 4) 

100.

1) 0 2) 1 3) –2 4) 

çÜÐ]l*«§é¯éË$
1) 4 2) 2 3) 3 4) 2 5) 1
6) 2 7) 1 8) 4 9) 3 10) 2
11) 3 12) 1 13) 3 14) 2 15) 3
16) 2 17) 4 18) 2 19) 3 20) 1
21) 4 22) 4 23) 4 24) 1 25) 1
26) 2 27) 1 28) 1 29) 3 30) 1
31) 3 32) 3 33) 3 34) 1 35) 4
36) 3 37) 2 38) 4 39) 2 40) 1
41) 2 42) 2 43) 4 44) 3 45) 2
46) 1 47) 4 48) 2 49) 4 50) 2
51) 1 52) 4 53) 3 54) 2 55) 4
56) 4 57) 3 58) 3 59) 2 60) 1
61) 1 62) 3 63) 2 64) 4 65) 3
66) 4 67) 4 68) 2 69) 2 70) 2
71) 2 72) 2 73) 1 74) 1 75) 2
76) 2 77) 3 78) 3 79) 1 80) 2
81) 1 82) 2 83) 1 84) 1 85) 2
86) 2 87) 1 88) 4 89) 4 90) 2 
91) 2 92) 2 93) 3 94) 2 95) 2
96) 2 97) 4 98) 3 99) 4 100) 2
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